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•••• Ñi;k t k¡p dj ysa fd Hkk xHkk xHkk xHkk x–II ds bl iz'u-i= e sa e qfnzr i`"B 8 rFkk iz'u 30 gSaA 
 Please make sure that the printed pages in this question paper of Part-II are 8 in 

number and it contains 30 questions. 

•••• ijh{kkFkhZ viuk jksy  u a0 iz'u& i= ij vo'; fy[ksaA 
 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj y sa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl 
lEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; klEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; klEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; klEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; k     tk;sxkAtk;sxkAtk;sxkAtk;sxkA 

 Before answering the question, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 
lkekU; fu nsZ'k  %lkekU; fu nsZ'k  %lkekU; fu nsZ'k  %lkekU; fu nsZ'k  %         
General Instructions : 

    (i)    lHk h iz'u vfuok; Z gSaAlHk h iz'u vfuok; Z gSaAlHk h iz'u vfuok; Z gSaAlHk h iz'u vfuok; Z gSaA     
        All questions are compulsory.    
 (ii) lghlghlghlgh mÙkj viu h mÙkj&iqfLrdk e sa fyf[k,A 
  Write correct answer in your answer-book. 

SET : D 
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[k.M [k.M [k.M [k.M –    vvvv     
     SECTION – A [ Marks : 10 

¼HkkSfrd foKku½¼HkkSfrd foKku½¼HkkSfrd foKku½¼HkkSfrd foKku½ 

(PHYSICS) 

1. ,d xksy h; niZ.k dh oØ rk f=T;k 15 lseh0 gSA bldh Q ksdl nwjh D;k gksxh \ 1 

The radius of curvature of a spherical mirror is 15 cm. What is its focal   

length ? 

2. lkekU; n`f"V d s o;Ld  d s fy, lqLi"V n'kZu dh vYire nwjh gksrh gS] yxHkx % 1 

(A) 25 e h0   (B) 2.5 lse h0 
(C) 2.5 eh0   (D) 25 lse h0 
The least distance of distinct vision for a young adult with normal vision is 

about : 

(A) 25 m  (B) 2.5 cm 
(C) 2.5 m  (D) 25 cm 

3. izdk'k ds ………….. ds dkj.k vkdk'k dk jax u hyk izrhr gksrk gSA 1 

(A) viorZu (B) izdh.kZu  
(C) fo{ksi.k (D) LisDVªe 
………….. of light causes the blue colour of sky. 

(A) Refraction   (B) Scattering 

(C) Dispersion (D) Spectrum 

4. foHkokarj dk S. I. e k=d gS % 1 

(A) vkse   (B) ,fEi;j  

(C) dwykWe  (D) oksYV 

The S. I. unit of Potential difference is : 

(A) Ohm  (B) Ampere 

(C) Coulomb (D) Volt 
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5. lkSj ÅtkZ ij vk/kkfjr ,d la;a= d k uke fy f[k,A 1 

Name one device based on solar energy.  

6. bue sa ls d kSu ÅtkZ d k ikjaifjd òksr u gha u gha u gha u gha  gS \ 1 

(A) lkSj ÅtkZ (B) ty  fo| qr  

(C) thok'e h b±/ku (D) rki fo| qr 

Which of the following is not a conventional source of energy ? 

(A) Solar Energy  (B) Hydro Power 

(C) Fossil Fuels (D) Thermal Power 

7. eksecÙkh ds ty us ij jklk;fud ÅtkZ ifjofrZr gks tkrh gS % 1 

(A) Å"eh; ÅtkZ e sa  (B) izdk'k Åt kZ esa 

(C) (A) rFkk (B) nksuksa e sa (D) bue sa ls dksbZ ugha  

During the burning of a candle, the chemical energy converts into : 

(A) Heat Energy (B) Light Energy  

(C) Both (A) and (B)  (D) None of these 

8. tSo xSl e sa dkSu-lh xSl u gha u gha u gha u gha gksrh gS \ 1 

(A) ehFksu  (B) gkbMªkstu 

(C) gkbM ªkstu lYQkbM (D) vkWDlhtu 

Which gas is not present in Bio-gas ? 

(A) Methane (B) Hydrogen 

(C) Hydrogen Sulphide (D) Oxygen 

9. ………….. jktLFkku e sa ty  laxzg.k dh izkp hu lajpu k,¡ gSaA 1 

(A) [kkfnu  (B) dwYg  
(C) ca/kkjl (D) ikbu 
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………….. is ancient water harvesting structures in Rajasthan. 

(A) Khadins  (B) Kulhs 

(C) Bandharas  (D) Pynes 

10. ………….. ,d  xzhu gkÅl xSl gSA 1 

(A) gkbM ªkstu (B) vkWDlhtu 
(C) dkcZu MkbvkWDlkbM (D) u kbVªkstu 
………….. is a green-house gas. 

(A) Hydrogen  (B) Oxygen 

(C) Carbon dioxide  (D) Nitrogen 

[k.M  [k.M  [k.M  [k.M  –    cccc     
     SECTION – B [ Marks : 08 

¼¼¼¼ jlk; u foKkujlk; u foKkujlk; u foKkujlk; u foKku ½½½½ 

(CHEMISTRY) 

11. )()()( 23 gCOsCaOsCaCO + →
ekÅ"   

Åij nh x;h vfHkfØ;k fdl izdkj dh gS \ 1 

(A) la;kstu vfHkfØ;k (B) fo;kstu vfHkfØ;k 

(C) foLFkkiu vfHkfØ;k (D) f}foLFkkiu vfHkfØ;k 

)()()( 23 gCOsCaOsCaCO + →
Heat  

The above reaction is an example of a : 

(A) Combination Reaction (B) Decomposition Reaction 

(C) Displacement Reaction (D) Double Displacement Reaction  

12. os vfHkfØ;k,a ftu esa vfHkdkjdksa ds chp vk;uksa d k vknku-iznku gksrk gS] mUgsa ………….. d grs gSaA 1 

Those reactions in which there is an exchange of ions between the reactants 

are called ………….. . 
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13. csfdax ikmMj] csfdax lksMk vkSj ………….. dk feJ .k gSA 1 

Baking powder, which is a mixture of baking soda and …………. . 

14. dkSu-lh /kkrq d ks Hk.Mkj.k d s fy, dsjksflu esa Mqckdj j[kk tkrk gS \ 1 

(A) ikjk  (B) pk¡nh 

(C) lksfM;e (D) yksgk 

Which metal is kept immersed in Kerosene for storing ? 

(A) Mercury  (B) Silver 

(C) Sodium  (D) Iron 

15. ,syqfe fu ;e d k by sDVªkWfud foU;kl gS % 1 

(A) 2, 8, 1 (B) 2, 8, 2 

(C) 2, 8, 3 (D) 2, 8, 5 

Electronic configuration of Aluminium is : 

(A) 2, 8, 1 (B) 2, 8, 2 

(C) 2, 8, 3 (D) 2, 8, 5  

16. ,sls vlar`Ir gkbMªksd kcZu ftu esa ,d ;k vf/ kd nksgjs vkca/k gksrs gSa ………….. d gy krs gSaA  1 

The unsaturated hydrocarbons which contain one or more double bonds are 

called ………….. .  

17. isUVsu dk jklk;fud lw= gS % 1 

(A) 62HC  (B) 83HC  

(C) 125HC  (D) 104HC  

Chemical formula of Pentane is : 

(A) 62HC  (B) 83HC  

(C) 125HC  (D) 104HC  
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18. dkcZu dh la;kstdrk gS % 1 

(A) 2  (B) 3 

(C) 4  (D) 5 

Valency of carbon is : 

(A) 2  (B) 3 

(C) 4  (D) 5 

[k.M [k.M [k.M [k.M –    llll     
     SECTION – C [ Marks : 12 

¼¼¼¼ t ho f oK kut ho f oK kut ho f oK kut ho f oK ku ½½½½ 

(LIFE SCIENCE) 

19. eu q"; e sa o`Dd ,d ra= dk Hkkx gS t ks lacaf/kr gS % 1 

(A) 'olu   (B) iks"k.k 

(C) ifjogu (D) mRltZu 

The Kidneys in human beings are a part of the system for : 

(A) Respiration (B) Nutrition 

(C) Transportation (D) Excretion 

20. ………….. vkgkjuky dk lcls yack Hkkx gSA 1 

………….. is the longest part of the alimentary canal. 

21. fu Eufyf[kr e sa ls dkSu-lh izfØ;k ikniksa esa t y ,oa [kfu t y o.kksa d h mifjeq[khxfr e sa lgk;d gksrh    
gS \   1 

(A) 'olu   (B) o`f) 

(C) izdk'k-la'ys"k.k (D) ok"iksRltZu 
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Which of the following process helps in the upward transportation of water 

and minerals in plants ? 

(A) Respiration (B) Growth  

(C) Photosynthesis  (D) Transpiration 

22. 'kjhj esa es# jTtq d h j{kk dkSu djrk gS \ 1 

Which part of human body protects the spinal cord ? 

23. gekjs 'kjhj esa fu ;a= .k ,oa leU o; d k dk;Z ………….. rFkk gke ksZu d k gSA 1 

Control and Coordination are the functions of the ………….. and harmones in 

our bodies.  

24. vehck e sa vy Safxd tuu fuE ufy f[kr e sa ls fdl fof/ k ls gksrk gS \ 1 

(A) [kaMu  (B) cgq[kaM u 

(C) f}[kaM u (D) e qdqyu  

Which of the following mode is involved in asexual reproduction in Amoeba ? 

(A) Fragmentation  (B) Multiple fission  

(C) Binary fission  (D) Budding 

25. fu Eufyf[kr esa ls fdl t ho d h dksf'kdk ds ,d fljs ij dksM +s d s leku lw{e lajp uk gksrh gS \ 1 

(A) Likbjksxkbjk  (B) IySTeksfM;e  
(C) ve hck  (D) ysLe kfu;k 
Which of the following organisms have a whip like structure at one end of the 

cell ? 

(A) Spirogyra  (B) Plasmodium  

(C) Amoeba  (D) Leishmania 

26. ………….. fu;e bl ckr d k fu/kkZj.k djrs gSa] ftlds } kjk fofHkUu y{k.k iw.kZ fo'oluh;rk ds lkFk 
oa'kkxr gksrs gSaA 1 

The rule of ………….. determine the process by which various traits and 

characteristics are reliably inherited. 
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27. iq#"kksa esa ………….. xq.klw= gksrs gSaA 1 

(A) X  (B) Y 

(C) XY  (D) XX 

Male have ………….. chromosomes. 

(A) X  (B) Y 

(C) XY  (D) XX 

28. fu Eufyf[kr esa ls dkSu vkgkj Ük`a[ky k dk fu ekZ.k djrs gSa \ 1 

(A) ?kkl] eN yh rFkk cdjh (B) ?kkl]  xsgw¡ rFkk vke 

(C) ?kkl] cdjh rFkk e ku o (D) ?kkl]  e Ny h rFkk xk; 

Which of the following constitue a food chain ? 

(A) Grass, Fish and Goat (B) Grass, Wheat and Mango 

(C) Grass, Goat and Human  (D) Grass, Fish and Cow 

29. fu Eufyf[kr esa ls fdl iks"kh Lrj ls 'kkdkgkjh lEcfU/kr gS \ 1 

(A) izFke  (B) f}rh; 
(C) r`rh;  (D) prqFkZ 
Herbivores belongs to which of the following trophic level ? 

(A) First  (B) Second 

(C) Third  (D) Fourth 

30. fu Eufyf[kr esa ls fdlesa CFCs  dk mi;ksx fd;k tkrk gS \ 1 

(A) jsfÝtjsVj (B) vfX u'ke u 
(C) (A) vkSj (B) nksuksa e sa  (D) bue sa ls dksbZ ugha  
In which of the following CFCs is used ? 

(A) Refrigerator (B) Fire Extinguisher 

(C) Both (A) and (B)   (D) None of these 

S 


